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any error or omission in writing the test booklet code.

This Test Booklet consists of 20 pages containing 150 questions. Against each question
four alternative choices (1), (2), (3), (4) are given, out of which one is correct. Indicate your
choice of answer by darkening the suitable circle with BLACK/BLUE pen in the OMR Answer
Sheet supplied to you separately. Use of Pencil is strictly prohibited. More than one answer
indicated against a question will be deemed as incorrect response.

The maximum marks are 150. Each question carries one mark. There will be no negative
marking. The total time allocated is 90 minutes.

Do not fold or make any stray marks on the OMR Answer Sheet. Any stray mark or smudge
on the OMR Answer Sheet may be taken as wrong answer. Any damage to OMR Answer
Sheet may result in disqualification of the candidate.

On completion of the test, candidate must hand over the Test Booklet and OMR Answer
Sheet to the invigilator on duty in the room/hall.

Use of Mobile phones and calculators etc. are not allowed.
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NOTE:

(i) There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child
development and pedagogy — 30 questions, English Language — 30 questions and Punjabi Language — 30
questions. There are 90 questions in total in Section—A in which the Child development and pedagogy is
bilingual.

(i) Section B comprises of Mathematics — 30 questions and Environmental Studies — 30 questions. The Section — B
is bilingual (English followed by Punjabi).

SECTION - A

CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) — 30 QUESTIONS (1-30)

1 Which one of the following is the true statement corresponding to Cephalocaudal Principle of
Child’s Development:

(1) Development is from head to foot (2) Development is from foot to head

(3) Development is from middle to periphery  (4) None of these

1 | g9 € feam € fAg-yent fAuis € niggs fagsr gus Fat o
(1) fearfAe I g 3T Jer J 2)fearUg I g IT Jer T
(3)feamAHT I Qug Ia der I (4) fegt feg’ aet <t &dt

2 Determinants of Individual differences in human beings relate to:
(1) Differences in Environment

(2) Differences in Heredity

(3) Interaction between Heredity & Environment

(4) Both Heredity & Environment interacting separately

2 | gyt feu fawt H3det € faguea fan &5 Fafug vs:

(1) uferr=as feg 739

(2) feam3 feg %39

(3) feaH3 w3 ufenr=as feg wzafemr

(4) Y Y 3¢ 5B MIIPA™ I9 3d €< feamz w3 ufgn=as

3 The best method to study growth and development of the child is:

(1) Psychoanalytic Method (2) Comparative Method
(3) Developmental Method (4) Statistical Method
3 | g9 €t feul w3 feam v vifeis s €t A9 3 <ubyr feut &
(1) H&-fenmdreava feut (2) IB&IHT feat
(3) fegmava fedt (4) Atfgrat fedt

4 | The major purpose of diagnostic test is that of Identifying:
(1) The General area of weakness in class performance

(2) Specific nature of remedial Programme needed

(3) The causes underlying academic difficulties

(4) The specific nature of pupil difficulties

4 | fasefsa udys &7 WY 13< fan &t g 9aaT &
(1) B € Y=Ins feg aHdd! €7 ArU9s U39

(2) BFTe QuaTet Yo & fenm yfaest

(3) maeHT HRfaST € I8

(4) fefonaebut @it yrfast < feim yfaast

5 “A Child can think logically about objects & events” This is the characteristic given by Piaget of stage:

(1) Sensory Motor (2) Pre Operational (3) Concrete Operational (4) Formal Operation
5 | “g9r g M3 WesTS 919 I9fad €T 578 A9 AgeT 917 feg femms fumw =8 faost memer

»et fadt ot &

(1) A=<t Yyaa (2) YIT-HIBST (3) Hg® AT&ST (4) BUT9d AEBS
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6 Socialization is a process by which children & adults learn from:
(1) Family (2) School (3) Peers (4) All of these
6 | mitaes fea yfaprr I fam gt 99 w3 gvaar fan 3 fue o
(1) ufgera (2) A& (3) IH-g39" ATET (4) Quda3 AT Tt
7 What should be the role of teacher in meeting the individual differences:
(1) Try to know the abilities, interest & aptitude of individuals
(2) Try to adjust the curriculum as per the needs of individuals
(3) Both (1) & (2)
(4) None of these
7 | fa+t Ha9E d96 BE Mfryg €t &t givar 9t Iatet &
(1) fema3tu St darsT=t, gat w3 yfeadt & Aear
(2) fomadtt St 83T nigHTd UsgH § T8
(3) 82 (1) M3 (2)
(4) Qudaz feg gt <t &t
8 A few students in your class are exceptionally bright, You will teach them:
(1) Along with the class (2) Along with higher classes
(3) By using Enriched programmes (4) Only when they want
8 | gust auw feu gy fefenradt fenw 39 3 gus 951 At @97 § uzGar:
(1)IBHE &F (2) €9t TE™HT T
(3) AT YarHf St f93 dd o (4) 3<% B¢ A< BT 9g=
9 Term PSRN in development implies:
(1) Problem solving, reasoning & numeracy (2) Problem solving relationship & numeracy
(3) Perceptual skill, reasoning & numeracy (4) Perceptual skill, relationship & numbers
9 | fegm few PSRN Y B H3BT T
(1) Problem Solving, Reasoning & Numeracy (2) Problem Solving Relationship & Numeracy
(3) Perceptual Skill, Reasoning & Numeracy (4) Perceptual Skill, Relationship & Numbers
10 | Gardner formulated a list of seven Intelligencies, Which among the following is not one of them:
(1) Spatial Intelligence (2) Emotional Intelligence
(3) Interpersonal Intelligence (4) Linguistic Intelligence
10 | gr9sse & AT gUtHt € gt gevEt| 35 fafnt few fea faost aat &
(1) rafsa gat (2) ITTIHT 5T (3) W3I-fomafaa gut (4) ITHTET IOt
11 | Which of the following does not belong to the categories of Coping strategies that women
commonly engaged in:
(1) Acceptance (2) Resistance (3) Revolution (4) Adaptation
11 | fgggr @4t Arug ga3t € Y=9aT 37% AU &1 g ueT fAn feg wieast v 39 3 vAgs afdent os:
(1) rtfa St (2) yfg3u (3) i3t (4) METBE
12 | Frobel’s most important contribution to education was his development of the:
(1) Vocational school  (2) Kindergarten (3) Public School (4) Latin school
12 | 395 & fAfumr § Ag 3° T Ho'3TYds Wares ER e
(1) fe=nfed Ag® e feam A (2) fazaarges e feam At
(3) yafsa Ag® e fea™ |t (4) Bfes Ag® @ feam At
13 | If a child writes 16 as 61 & gets confused between b & d, this is case of:
(1) Visual Impairment  (2) Learning Disability (3) Mental impairment (4) Mental Retardation
13 |7 997618 16 foyer I3 b w3 d feg Qo Afer 3, feo fam eram &
(1) fewet feama (2) fAye fagtiarsT (3) iR feag (4) IsTAa M=3T
14 | In CCE, Formative & Summative Assessment totals to:

(1) 40% & 60% respectively (2) 60% & 40% respectively
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(3) 50% & 50% respectively (4) None of the above

14 | ccE feg, TTEINT M AABSTIHT HBTaS €T I8 73 &
(1) IHITT 40% M3 60% (2) IHRTT 60% M3 40%
(3) FHIF 50% M3 50% (4) Budaz feg gt = &t
15 | If a child has mental age of 5 years & chronological age of 4 years than what will be the 1Q of child:
(1) 125 (2) 80 (3) 120 (4) 100
15 | 5 feq 9% €t WsfAg W' 5 IS W3 BT W 4 ATS J, 3T 89 €7 1Q &F g9
(1) 125 (2) 80 (3) 120 (4) 100
16 | Vygotsky proposed that Child Development is:
(1) Due to genetic components of a culture (2) A product of social interaction
(3) A product of formal education (4) A product of assimilation & accommodation
16 | fedramat e gsoy A fa 978 feam 9
(1) a3t € Aefed 33T I9s (2) A H33fqmm & Gud
(3) Gugraa fafem €1 QuA (4) AHIITE M3 MEaB< ©f Gud
17 | Which of the following is the true statement in reference to intelligence:
(1) Intelligence is the ability to adjust (2) Intelligence is the ability to learn
(3) Intelligence is the ability of Abstract Reasoning (4) All of these
17 | gt @ ¥y fev faosT qus Adt
(1) g0t M5g® g8 & HarzT I (2) g4t fAye &t GarsT I
(3) g0t Y 39 €1 GarzT (4) Quda3z A9 Tt
18 | Which of the following are the External Factors affecting the interest of students in classroom:
(1) Emotions & Sentiments (2) Culture & Training
(3) Attitudes of students (4) Goals & motives
18 | guHEH feu fefenradtnt € fesamit § ygrfes aus =8 g9 aad faos vs:
(1) 7= W3 Gearg (2) FAfaSt M3 fruset
(3) fefemmaghrt &bt yfeaatut (4) Baw M3 GeF
19 | Which article enjoins that “All minorities whether based on religion or language shall have the
right to establish & administer education institutions of their choice”
(1) Article 29(1) (2) Article 29(2) (3) Article 30(1) (4) Article 30(2)
19 | faod mMgew feu foo feengr fa, “ATd mBU-ffuna 979 €9 90T 3 marfag 9& AT Tad €7uq,
€at & vyt wie & aEt <t AR AUz W3 BRI d9s T wfgare 3
(1) Mze<e 29(1) (2) MEEw 29(2) (3) Maew 30(1) (4) Mze< 30(2)
20 | Which of the following is not the tool for Formative Assessment in scholastic domain:
(1) Conversation Skill (2) Multiple Choice Question
(3) Projects (4) Oral Questions
20 | fafpnrana 437 feu JuaTana WBaS @ Quaes fagsr aat
(1) TIIBY JHBIT (2) ay-feagsut 9 =& yrs
(3) Yrae (4) Hfug yas
21 | Special education is related to
(1) Educational for talented students (2) Educational programmes for disabled
(3) Training programmes for Teachers (4) Training programme for retarded
21 | ferw fafumr fam a7 féfog &
(1) yg u fefemmagtnt et fAfwn Yoy (2) fagtiar fefenmmaghnt wet fafwmm Yo
(3) mifomuat Bt frusTet Yo (4) Mg U fefenraghnt et fAugTet YarH
22 | Which of the following Motives are considered as primary motives:
(1) Physiological Motives (2) Psychological Motives
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(3) Social Motives (4) Educational Motives

22 | {93 yawst § yrafna yins faar arer
(1) ndte-fefomrmasa yoins (2) wafefammsa yaas
(3) INAT YA (4) fafimana yaras
23 | What are the factors related to learner that effects the learning:
(1) Physical & Mental health of the learner (2) Level of aspiration & achievement motivation
(3) Readiness & Willpower (4) All of these
23 | fafynraet 7% ASfug faos aaa 0s fAos fAye Gug »ve u8e s
(1) fAfuraEt €7 Adted W3 Hsid ARHE (2) midifad™ iz Qusedt mifsyaa &t udg
(3) 33YT3™ M3 feg-ma3t (4) Quda3 A It
24 | Cognitive Development means:
(1) Development of intelligence (2) Development of child
(3) Development of Physical Skills (4) Development of individual
24 | pfgraraTand fea™ e H3BY 9
(1) gat e feam (2) g9 & feam
(3) A9 JHSIT &7 fed™ (4) fora3t e feam
25 | Anintelligent student is not doing well in studies. What is the best course of the action for the teacher:
(1) Wait till he performs better (2) Find out reason for his under achievement
(3) Give him grace marks in the examination  (4) Ask his parents to withdraw from school
25 | guns femadt ugret sia 39t aat a9 four | Mfmua =W argeret €t A9 3 §u39 feut &t &
(1) fisT fog 87 &7 yars §u39 &4t J AfeT, ' fog ff3mg ad
(2) 87 &t we QusEd! EF I95 HEH 9
(3) udtfemir feg 87 & fonrfeh Wi fo€
(4) €7 € W & 39 fa 67 & g feg' ger 8=
26 As a teacher what techniques you would follow to motivate students of your class:
1. By setting induction 2. Use of black board
3. By illustration 4. By active participation of students
(1)1,2&3 (2)1&4 (3)2&4 (4) All of these
26 | wfeyryd TA° AT MUt aBH € fefenraatnt § {fe3 g6 w3 faustt 3astat €t =93 adarn:
1 YA =TS He ad d 2 939 §9F € T3
3 fewetat arat 4 fefenragtut € AaaeH AIHBTHI Irat
(1)1,2m3 3 (2)1 M3 4 (3)2 M3 4 (4) Qu3az ATI T
27 | ltis said that teacher should be resourceful, This means that:
(1) He should have enough money & property so that he may not have to take up tuitions
(2) He should have contacts with high authorities so that he may not be harmed
(3) He should have adequate knowledge so that he may be able to solve the problems of students
(4) He should have good reputation among students so that authorities may not be able to take any
punitive measure against him
27 | feg fagr arer § fa ‘sfoya Aras-is Jer gvdter 37 fen e Wasy 3 fa:
(1) B 3% waT UAr w3 Arfeee 3= fa 6w & fe@uat &7 agat Ui
(2) €7 = €9 »ifgardtt 7% Auda I< 3T fa €F o SIS &7 I A
(3) OW 3% Quua3 farrms J= 37 fa G fefenmagtnt &t mifrret § 9% a9 AT |
(4) € & fefenraght feg Saft yfsweT 92 3 fa »ifaardt G € fuze a8t S3aHa Joemet &7 a9
HIZ|
28 | The term Identical Elements is closely associated with:
(1) Similar test questions (2) Jealousy between peers
(3) Transfer of learning (4) Group Instructions
28 | ‘mira I3’ UT © fadean 18T fan 57 I
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(1) A& Udtfem yms (2) OH-g3¥ fegaTa aur

(3) fAye e IA3T3ds (4) AHad fAfanr

29 | Creative writing should be an activity planned for:
(1) Only those children reading on grade level (2) Only those children spell & write cohesive sentences
(3) Only those children who want to write for newspaper (4) All children

29 | gusTINT By fea ardtfedt It it 3 faw &t GasT fagt et 9=
(1)IeE o9 MUz Iz BB I U W Is
(2) d=% €T g9 fAT= mae-13 73 Agd3 o 8y Aae 75
(3) I=B 9T 99 mygaT Bl fBysT Ide I&
(4) A3 89

30 | Who was the pioneer of Classical Conditioning:
(1) Skinner (2) Pavlov (3) Watson (4) Thorndike

30 | @Gt MisgBE T UTSIST d< HE:
(1) Afgsa (2) =8 (3) TS (4) Ga&3TEIT
ENGLISH LANGUAGE - 30 QUESTIONS (31-60)
Read the passage carefully and answer the questions (Q. 31-37) that follow by choosing the best
alternative:
In these times of worldwide skyrocketing energy costs, experts are turning to perhaps the only energy
source that is still immune to price fluctuations: the Sun. Economic necessity appears to be largely
responsible for the rapidly growing acceptance of solar heat as an alternative source. Electricity has been
a clean and versatile form of energy that continues to grow in importance for lighting, heating and
cooking, and for powering our increasingly automated and computerized society. The demand for
electricity is expected to grow more in future than the average trend in the past. A mix of energy sources
is required as hedge against shortages in any one area, and the electricity supply companies are taking a
second look at renewable generating technologies, particularly those based in the sun. Every 15 minutes,
the sun delivers to earth radiant energy to meet all mankind's power needs for a full year. But harnessing
this energy is complicated by two properties of sunlight: its diffuseness and its variability with time of day,
season and weather conditions. These factors pose formidable technical challenges for the efficient
conversion of solar radiation into bulk, utility grade electric power. Nevertheless, solar technologies are
attractive to utilities because they are environment-friendly and offer a low regulatory risk, limited capital
risk, and less lead time.

31 | Why are experts, according to the passage, looking at the sun as an energy source?
(1) due to depletion of other sources of energy
(2) as other energy forms pollute the environment
(3) increasing costs of other sources
(4) all of the above

32 | Experts are impressed with the solar energy technologies because...
(1) of them being good for the environment (2) they require less investment
(3) they can be employed in quick time (4) all of these

33 | Why is sun such an important source of alternative energy?
(1) it is available free of cost
(2) it is available everywhere in the world
(3) it can satisfy human energy requirements alone if tapped properly
(4) all of these

34 | What is the major difficulty in employing solar energy?
(1) fluctuations in weather (2) by nature sunlight is diffuse
(3) sunlight varies from time to time (4) all of these

35 | Why are power generating companies looking at mix energy options?
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(1) the sources of energy are getting scarce but demand is increasing

(2) government is controlling prices of electricity

(3) alternative sources of energy are available free and without regulations
(4) all of these

36 | Identify the word closest in meaning to the word: "VERSATILE"
(1) limited (2) resourceful (3) permanent (4) invariable

37 | Identify the word opposite in meaning to the word: "FORMIDABLE"
(1) alarming (2) frightening (3) terrible (4) insignificant
Read the passage carefully and answer the questions (Q. 38-45) that follow by choosing the best
alternative:
The political system always dominates the entire social scene; and hence those who wield political
power are generally able to control all the different social sub-systems and manipulate them to their
own advantage. The social groups in power therefore have always manipulated the education
systems, especially when these happen to depend upon the state for their very existence to
strengthen and perpetuate their own privileged position. But herein lies a contradiction. For the very
realization of their selfish ends, the social groups in power are compelled to extend the benefits of
these educational systems to the under-privileged groups also. The inevitable task is generally
performed with three precautions abundantly taken care of: One, the privileged groups continue to
be the principal beneficiaries of the educational system, dominate the higher stages of education or
the hard core of prestigious and quality institutions or the most useful of courses, so as to safeguard
their dominant position of leadership in all walks of life; Second, the system is so operated that
under-privileged groups can utilize it only marginally in real terms and the bulk of them become
either dropouts or pushouts and get reconciled to their to their own interior status in society; Third,
the few from the weaker section that survive and succeed in spite of all the handicaps are generally
co-opted within the system to prevent dissatisfaction.

38 | Who, according to the passage, can manipulate the systems to their advantage?
(1) social activists (2) popular people
(3) political powerful people (4) all of the above

39 | How do socially powerful people try to maintain their privileged position?
(1) by maintaining control over political systems (2) by maintaining control over social systems
(3) by maintaining control over education systems  (4) all of these

40 | Why underprivileged sections have to reconcile to their inferior status?
(1) they are unable to effectively utilize the education system
(2) they have no interest in the system
(3) they are illiterate
(4) all of these

41 Which is the best explanation as to why the few from the weaker section that survive and succeed
in spite of all the handicaps are generally co-opted within the system?
(1) to prevent the revolt in the society (2) to satisfy their instinct
(3) to augument the position of the privileged class (4) all of these

42 | Which system, according to the passage, dominates the social system?
(1) political system (2) education system  (3) caste system (4) monetary system

43 | Identify the word closest in meaning to the word: "PERPETUATE".
(1) abort (2) ruin (3) continue (4) omit

44 | Identify the word opposite in meaning to the word: "PRESTIGIOUS".
(1) obscure (2) influential (3) esteemed (4) impressive

45 | What is the major idea reflected in the passage?

(1) powerful people are unable to fully control the system
(2) major benefits have been snatched by the underprivileged
(3) both of these
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(4) none of these

46 | Study of meaning in a language is known as...
(1) syntax (2) semantics (3) morphology (4) linguistics
47 | Where will you add disclosures in a letter?
(1) below the signature and the right side margin  (2) below the signature and the left side margin
(3) above the signature and the right side margin  (4) any of these
48 | While writing a notice, the writer should prefer...
(1) active voice (2) passive voice (3) any voice (4) none of these
49 | Learning a language s a...
(1) gradual process (2) fast process (3) instant process (4) all inclusive process
50 | "REGISTER" is...
(1) variety of language according to region in a particular country
(2) variety of language according to countries
(3) any of these
(4) none of these
51 'Phonetics' is basically associated with...
(1) sounds (2) sentences (3) grammar (4) all of these
52 | /m/ sound in the word 'make' is....
(1) labio-dental (2) dental (3) bilabial (4) alveolar
53 | Remedial teaching...
(2) fills the gap that creeps into a pupil's learning
(2) rectifies the concepts which have been misunderstood
(3) helps in retaining homogeneity in the class
(4) all of these
54 Identify the correct passive voice of the sentence: Obey me.
(1) I should be obeyed (2) Let | be obeyed
(3) both,aand b (4) none of these
55 Communicative Language Teaching replaced basically...
(1) Natural Language Processing (2) Structural Teaching
(3) Situational Language Teaching (4) Motivational Teaching
56 | Find the word nearest in meaning to : REMORSE
(1) obdurate (2) hard (3) penitent (4) none of these
57 | Find the word opposite in meaning to : INSIPID
(1) impalatable (2) bland (3) tame (4) savoury
58 | Which of the following organs of speech is also known as 'VELUM'?
(1) hard palate (2) voice box (3) alveolar ridge (4) soft palate
59 | Find the appropriate preposition to fill in the sentence: She lives ....... Mumbai.
(1) at (2)in (3) into (4) on
60 The major difference between an 'ARTICLE' and 'SPEECH' is....
(1) speech is more formal (2) speech is more informal
(3) speech is more descriptive (4) all of these

PUNJABI LANGUAGE — 30 QUESTIONS (61 - 90)

J5 fod U & forrs 575 ug a ot &3 yast € 99 §°397 fev fea sta €37 fe6: (Q. 61-68)

»H AS AT €t T753 67 397 & T a1t 9 fAust a9 aed @ it € AaH 3 ufost Al | ger €t gewes
»ug f&H PaEt @3 J 34t J fAR € 39 993 forsa faa® a0 91 $5, I38M, fgHew,
Jaedtnt M3 I a3 T §BTET T famrr J1 aTE ot fesAaiz Ha aret § w3 di3™-a0 yurs T fapur
J1 feg 79 g% IR w3 §U93 TWI T faur J1 »ige w3 Fartt & gH & We Y & AT6<d g7 fear J1
HenT fed st a9 Bt 99 fea 39T e Afea-sared 3dtar Tafawr ar fagr I fam feg mrufontt &5
TSP M g+t ST AT It I8 | fJuB-u3g w3 goret-garet ©t ArfeeTe 439 B3E!
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I3BT IF UIT Aet I farg-arfant feg o™ odt 3t fam & fAe =1 uhi-u'39 849 7 I 75
MI Wt &7 munTs 13T 77 fagr J1 §9F &7 €t ¥39 98 93 9ot 9%, 99 If3m 3+t 7% Tu gt
I M3 gBT3dT ST WeasTe It 7% TU gatit 9w | few feurs get-tat, Sdhwt-3vd w3 sfont &
AT J95 Tt weasT=t fes-fes =u aatit 95| fed 3t &7 fise & pes feu wpn gfew e g-aforit
&% A3B 13T A faur T ITAUITBT feg HataT € A% &% fug=ra 3T A7 faur J| fearatvz fed 3
Ha gait I fa faffent s 3t Jar-3dtut § It adtu™ g5, wafen™ § & sufin &t A foor | 3% gt
J 39 U5 M3 §-J&'J STHT 97 9J I | A 99T € WeTEHt & w3 SHtfegn 3 TuAfeee g €@
an 9% 34 95| UHa3T € &f '3 FoT-=w I feu »r gar I fAgsT uon & w3 few g9 got &
Afaw @t wam € fogr T1 Hed SIAT M3 9913 Yas iy &t @ergaet fige fagmat € Ufent e fimre
g o 3fg et I |

61 | %y @ AH €t o83 fad fAdt  ardt &

(1) SUTgd J aret I (2) Gefaa feaw T fapur

(3) I 375 O< Al € AGH T UfaBT T BT T I T (4) WATIwa T IrEt T
62 | fesAratua fa§* we aret I M3 & v fa€ yurs T faprr 37

(1) feT AF 99 UF W3 BI93 & T fagr I (2) feT gusTge g9s T fagr I

(3) feg &f3q gegt-athi3t &t faeree a9a J fagr J1  (4) AgaTa fern & Ja< et g% &t a9 Jat|
63 | y'39 <7 fuf er a3 fag: aigr Afer I?

(1) ufg=oa TBH F9& (2) fan €375 a9

(3) Afee™e 439 (4) faw I9 A 95 JI |
64 |y gfont e a3% fag* ats wier 97

(1) HEH Sfant € Wiyt 3 g8 8 et (2) fedst &7 e F9ad

(3) yIr=t EAHST S (4) fegt 3 fewrer fan 39 a6 T9d
65 | grugET feu walaT &% fag fagr <9376 g Afer J7

(1) Hatat & He3 et faghmt At o5 (2) feg™ Bt TuyT 379edt AeT Qumay

(3) femma Hfdar 3 (4) HdtaT & 775 &8 fugez g AteT JI
66 | gAE Tgar €t yfRut faw yer feg T adt 37

(1) S THI Jid H& Ut 3dta =93< feg (2) Wetsnt & AT feg ere daa

(3) gIHT € Y FIA (4) A A= feg Hadt afas aaa
67 | gafiaraT € &F ’F ot § faar 37

(1) TafHe mAETST 3 MBHS UET ST fagr I (2) TeH T Yg9 J foor §

(3) Sgrere IE few o faar 3 (4) fegt fod gt < &t
68 | fagrdt Ufemt I d< Mva afa fapur 37

(1) HEg ST 3 FA13 Y iy (2) 3T T 79

(3) TaH @ BaeTg (4) fegt fod a8t < &t

95 foy afe-9e § fors 7@ ug a J5' fe3 yast € o9 €739t fes' fea ata €°39 fe6: (Q. 69-
75)

MH ST OHHT G g & ST

giAre I fegug o

Ta w3 feawg &t u3d

Jggaredtes

87 M= S argeT AT

gu Aier st Ater
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H &7 YT By QT
757 38 gaa |

69 | fen arfe-ge bt ufostit € gat § Arugs =93d few fau:

(1) §d1 € He's feg g€ a1 arasT IdteT J|

(2) @ & @™ 4 fapur I M3 A ge-gt few A &% araeT gdter J1

(3) FU w3 ford @ He's feg Ag gy sla Jer T |

(4) I&-PHT Ire< B It It T
70 | garQSt T ATE-naEd HET fagsT 37

(1) €<t gdar (2) 93t (3) fagus (4) It <t AAag
71 | feswg e fesut mae fagsT 37

(1) &9 fesu (2) fant (3) Sfesnrst (4) Ag®&
72 | ‘QT T €t grgeT dHeT €9 AT ot Aier feu faw mdare & <93 oSt aret 97

(1) JU MBa9 (2) IB&” MBIT (3) mf3quat MBag  (4) MSYH MBI
73 | Sher v 9g-wgud g < fegt feg’ fags sia a7

(1) ST MI HIET  (2) ASH W3 Uefer  (3) fAagAeT w3 €e9= (4) M w3 HieT
74 | IB @A T A I I?

(1) ¥& =dI=T Q)R fegrBer (3 3fAz der (4) FIZ®s gregeT
75 | fen arfe-gv feu faud ‘an’ & FaHT I?

(1) @3 an (2) fiara an (3) §tg an (4) gar3t In
76 | gmr fAuzTet € fad g% 95 ?

(1) f3s (2) 99 (3) & (4) T
77 | g9 fAost g AE® fed' gifoe aeer 31

(1) H3 g™ (2) gdt gmHT (3) ufgst g (4) Gusm™r
78 | fAgSt gHET S9T MUE WME end feg fAyer 1

(1) ufgst g (2) gdt gmHT (8) H3 g™ (4) IT IHT
79 | ga St 39 A, (ATst g fAyer d 3t €W Bt faodt g =t

(1) I3 g™ (2) gdt gmHT (3) ufast g (4) feert g
80 | gmr & fAue wet famaa yeastat 9 ?

(1) Gusmr (2) feut (3) femaas (4) Sa FBT
81 | g9 Wa © T I'=ds feu faox I Ins fAy BT J1

(1) reslEss (2) resllugs (3) uzslifsys (4) gzlifeus
82 | gt gmT fAue et fenaas HU'S<YTs 3% mer aaet 3 ?

(1) ot (2) &t (3) wrfee (4) uzT &
83 | Ag® fev € faus g dns fAyerJ ?

(1) §sellugs (2) gelifeus (3) feueliugs (4) yzasllpes
84 | wia AW feg migeTe feut fagst ava J ?

(1) Y35 wg=Te (2) Mydgs mig=e  (3) it mig=re (4) forrags mig=e
85 | »md AN feu Ag 3 U Ho'S<Yds ATUS fagaT T

(1) afueg (2) Us yA3at (3) féeafeg (4) 98 &I
86 | gfgwt &t g fAye &t miaar faw 3g+ uayt Aret J1

(1) v&tae feut (2) fTreta® (3) Wi yifuenr (4) foust feat
87 |peg gmr I dur I fAue Bet faust feut vew aaet 3 7
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(1) y&ta< feut (2) ma=Te feut (3) y3'y feut (4) arad fedt

88 | &t grmItt I RS feg Hewe J9etnt 75 ¢
(1) ot (2) fazg® aqt (3) 83T 9U3 (4) mfee
89 | wmd mi feg g frysTet €t faost fett vyt Av aat 3 7
(1) I&H g1 mftrus (2) mifaa mifermus
(3) fema3tars nifemius (4) gEd3t TI=IS iU
90 | g fAye BEt Ag 3 HO I=Yds Aeg ST Jev J |
(1) us yrzat (2) 98 §I5 (3) Yareta® (4) YyGamST
SECTION-B
MATHEMATICS (BILINGUAL) — 30 QUESTIONS (91-120)
91 | Sum of a number of two digits and the number obtained by reversing the digits of the first number is
110. If the difference of the digits is 4, then the number is
(1) 62 (2) 73 (3) 84 (4) 51
91 | & wgt €t Afeprr w7 7 w3 ufast Afinr € wiat § €®er & YUz Afvnm 110 17 wiat ev a4 §
3t A 3:
(1) 62 (2) 73 (3) 84 (4) 51
92 | A and B can do a piece of work in 4 days and A alone can do it in 12 days. In how many days B
alone can do this work?
(1)5 (2)6 (3)7 (4)8
92 | Am3 B feq dW § 4 fes' feu g9 Aa® 76 W3 A fea®™ fen § 12 fest few a9 AgeT J1B fea s fem
(1)5 (2)6 (3)7 (4)8
93 | The graph of the equation ¥ = —#4 is a line
(1) parallel to x-axis (2) parallel to y-axis
(3) passing through origin (4) none of these
3 | miiges v = —4 erare feq dur &
(1) X - MidH € AHT&T39 (2) y - MW € AHT&T3T
(3) HB-fie a& grag<t (4) Budaz feg’ Iet =t &t
94 In the number 3.4625, the place value of the digit 2 is
(1) 1000 (2) 100 (3) 1/1000 (4) 1/100
94 | 3.4625 AfymT feg, 2 T ETAES HE T
(1) 1000 (2) 100 (3) 1/1000 (4) 1/100
95 | Find the smallest number of five digits exactly divisible by 16, 24, 36 and 54.
(1) 10368 (2) 10432 (3) 10560 (4) None of these
95 | i wigt T8t £t 3 £ Aftpr g a9 fAR § 16, 24, 36 M3 54 578 Yat 3§ fswm 7 AA:
(1) 10368 (2) 10432 (3) 10560 (4) fegt feg’ aet <t &dt
96 | The angle of elevation of the sun when the length of a shadow of a vertical pole is equal to its length is
(1) 60° (2) 45° (3) 90° (4) 180°
96 | gow € @9UTEl v d<, AT Hiow ug< ©f ydsTel ©f durel fen €t due € wewe 9%, &
(1) 60° (2) 45° (3) 90° (4) 180°
97 | The volume of the greatest sphere cut off from a cylindrical wood of base radius 1cm and height
5cm is
(1) E(STI:J cm? (2) g?r cm? (3) 5T cm? (4) none of these
97 | 1cm foumTau W3 5 Cm €9TE € MTUT T IT FAIT I A T3 B T feds O
(1) = (57) cm? (2) =7 cm? (3) 57 cm® (4) feat feg et &t =t
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98 The radius of a sphere whose volume and surface area have same value, is
(1) 1 unit (2) 2 units (3) 3 units (4) 4 units
98 | feq 3@ = fommray, fAn € »ifegs W3 AST UST T NG HE I
(1) 1 gfae (2) 2 gfse (3) 3 gfse (4) 4 gfse
99 | A man travels some distance at a speed of 12 km/hr and returns at 9 km/hr. If the total time taken
by him is 2 hrs 20 minutes, then the distance is
(1) 18 km (2) 14 km (3) 13 km (4) 12 km
99 | feq neMt 12 km/hr €t 9839 5% g¥ gl 3 F9ET T M3 9 Km/hr € T839 578 TUR QT I
# €n & fen few g3 mit 2 w2 20 fite Bfarr 5=, 37 gat fast 3
(1) 18 km (2) 14 km (3) 13 km (4) 12 km
100 | The area of a square is 64 cm* Then its perimeter is
(1) 64 cm (2)32cm (3) 46 cm (4) 48 cm
100 | fgor =gar € 439eS 64 cm’ T fow vr ufowy 3
(1) 64 cm (2) 32 cm (3) 46 cm (4) 48 cm
101 | The average of seven consecutive numbers is 20. The largest of these numbers is
(1) 20 (2) 22 (3) 23 (4) 24
101 | g3 v Afymret €t WA 20 T1 fegt feg* Ag 3 <31 Afnr
(1) 20 (2) 22 (3) 23 (4) 24
102 | What number should be put in the blank box?
7 5 9 18
6 3 7 21
4 3 9
7 4 8 24
(1) 9 (2) 27 (3) 36 (4) none of these
102 | yrzt g feg faast Afumr Tyt Itet O

7 |5 |9 |18
6 |3 |7 |21
4 [3 |9
7 |4 |8 |24

(1) 9 (2) 27 (3) 36 (4) fegt feg agt = &t

The circle graph given here shows the spending (in degrees) of a country on various sports during
the particular year. Study the graph carefully and answer the next three questions. (Q. NO. 103 -
105)

few fe'gr feg fo'3q fea feim A Sovs fan en =8 fefds ¥t Q'yg 9% you (fsort few) &
Ton@ET 31 fen fo'39 e fons 575 rfris a9 W3 Wad 3 yast € €°39 feg

(Q. NO. 103 - 105)
Tennis
45°
Hockey
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103 | What percentage of the total spending is spent on tennis?
(1) 123% (2) 223% (3) 25% (4) 45%
103 | g ya¥ <t f4& yfswasr Sfan Qua yaw &t At
(1) 125% (2) 223% (3) 25% (4) 45%
104 | If the total amount spent on sports during the year was Rs. 2 crores, the amount spent on cricket
and hockey together was
(1) Rs. 8,00,000 (2) Rs. 80,00,000 (3) Rs. 1,20,00,000 (4) Rs. 1,60,00,000
104 | § A5 & do7a 43T §UT HouU 1St g% gaH 2 993 I, 3T faae W3 gat §us g & wew A=t
IIH AT
(1) 8,00,000 JUT (2) 80,00,000 JUT (3) 1,20,00,000 JUT (4) 1,60,00,000 JUT
105 | If the total amount spent on sports during the year be Rs. 180,00,000, the amount spent on
basketball exceeds that of tennis approximately by
(1) Rs.2,50,000 (2) Rs. 3,60,000 (3) Rs. 3,75,000 (4) Rs. 4,10,000
105 | 7 s few 43t Qua Hau d13T IS TaH 1,80,00,000 JUT = 37 FHACT S §UT 13T HagT fan
€ug 13 HI9 &8 Bagdr faaT T T:
(1) 2,50,000 JUT (2) 3,60,000 JUT (3) 3,75,000 JUT (4) 4,10,000 JUT
106 | In a two digit number the digit in ten’s place exceeds the digit in unit’s place by 4. The sum of the
digits is 1/7 of the number, then the digit at the unit’s place is
(1)5 (2)4 (3)3 (4)1
106 | & wiat TET A fog, eR<t g 3 funm #ia Ufa® Wia 3 UT #ia 78" 4 ST | wiat a7 73 Afenr
ar 1/7 3, 3t ufast gt 3 fur i T
(1)5 (2)4 (3)3 (4)1
107 | The HCF of two numbers is 11 and their LCM is 693. If one of the numbers is 77, then the other
number is
(1) 88 (2) 33 (3) 99 (4) None of these
107 | & Afuprr=t © HCF 11 M3 LCM 693 §1 7 feq Afpnr 77 , 3 gt Afepnr 3:
(1) 88 (2) 33 (3) 99 (4) feqt feg" aet <t &at
108 | A plot has width of 44 feet and length of 90 feet. What is the size of the plot?
(1) 500 square yards (2) 450 square yards (3) 440 sq. yards (4) none of these
108 | feor ymTe Tt 9FTEL 44 g M T 90 g€ T YT T ATEIT o O
(1) 500 ST I (2) 450 =91 I (3) 440 TJ9T I (4) feqt feg aet =t &dt
109 | What is the next number after the following? 4,9, 25, 49, ?
(1) 64 (2) 81 (3) 100 (4) 121
109 | = fafpnt gome worst Afiprr st 3. 4,9, 25,49, ?
(1) 64 (2) 81 (3) 100 (4) 121
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110

By

Rational expression —— in the lowest form is

i

xt—xti at—xti i tadi i tati
(1) x+1 (2) x—1 (3) x—1 (4) x+1
5_ a
10 | toGaan gu few ufewn feoima S &
xr—x+1 xt -zl xr a1 T ra+l
(1) x+1 (2) x—1 (3) x—1 (4) x+1
111 | Divide 50 by half and add 20. From the same, subtract 35. What do you get?
(1) 10 (2) 85 (3) 15 (4) None of these
111 | 50 & W0 57 <3 3 fen fev 20 731 €n feT' 35 wer fe€ ) grt ot YUz a9e o
(1) 10 (2) 85 (3) 15 (4) feat feg aet =t &dt
112 | Absenteeism can be stopped by:
(1) Teaching (2) Punishing the students (3) Giving the sweets (4) Contacting the parents
112 | Jrggrwet § fam gt e 77 AaeT O
(1) miferus (2) fefenradht § AT €27 (3) eehf eT&@Y & (4) Hfunt 578 HUS ddaT
113 | The HCFof {x — 1},{x“ — 1} and {x° — 1} is
(W (x—1) (@) (x*— 1) (3) (x*—1) (4) (x+ 1)
113 | (x— 1),(x*—1) w3 (x*— 1) ST HCF T
(1) (x— 1) (2) (x*— 1) (3) (x* — 1) (4) (x+ 1)
114 | The mean of five numbers is 26. If one number is excluded, their mean is The excluded number is
(1) 20 (2) 15 (3) 30 (4) 34
114 | 5 ffipmret &t #iRg 26 T 7 fea Afnr § a'e fo'gr a2, 3t feqt & #iRz 24 31 Tt Afvdr &
(1) 20 (2) 15 (3) 30 (4) 34
115 | One of, the students of a class hardly talks in the class. How would you encourage him to express
himself?
(1) By organizing discussions
(2) By organizing educational games/ programmes in which children feel like speaking
(3) By giving good marks to those who express them'selves well
(4) By encouraging children to take part in classroom activities
115 | gmm fev fea fefemost 993 wafaw &7 §@er J1 grt 87 § WU wru § femas d9s @3
ICERELUNER-COR
(1) geg<t e Eds ad o |
(2) fafermana ¥3T/QaHt € Mmans a9 o fA e §9 §8<T Uie qae 5|
(3) €&t & 991 M € T faus MU iy § 9ot 397 fenas aae o5
(4) gfenit & @™ gH rStfettnt feg fowr 8= T3 E3rfog ag a|
116 | When the numerator of a fraction is increased by 4, the fraction increases by 2/3. What is the
denominator of the fraction?
(1) 6 (2) 7 (3) 8 (4) None of these
116 | § fea foes & » o9 4 =ur fegT AfeT I, 3T 195 2/3 5% Tu AT JI 95 o 79 (f8aTHEE9) ot
R
(1) 6 (2) 7 (3) 8 (4) feat feg Jet <t &t
117 | Which of the skills do you consider most essential for a teacher?
(1) encourage children to search for knowledge
(2) have all the information for the children
(3) ability to make children memorize materials
(4) enable children to do well in tests
117

wfue Bt AT 3° wi< AT RS 3T faost et &
(1) fefemraghnt & farnrs & 4a Bt 8303 daaT
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(2) gfont Bt ATdt FsT YrUI J9aT
(3) gfont feg A3 § we s & Hars
(4) gfgnt & ydhuet e 99 YEdHa dda & WdT g8

118 | Success in developing values is mainly dependent upon:
(1) government (2) society (3) family (4) teacher
118 | feqmwt® U'at feg Ae®3T Y 39 3 faw Gud fadgq o
(1) A (2) AHTH (3) yfgeTa (4) mifomue
119 | How many carats are there in one gram?
(1) 3 (2) 4 (3) 5 (4) None of these
119 | feq o feu fd& d9e 7s:
(1) 3 (2) 4 (3) 5 (4) fegt feg It &dt
120 | Each digit 1, 2,3,4,5,6,7,8 and 9 is represented by a different letter A, B, C, D, E, F, G, H and | but not
necessarily in that order. Further each of A+B+C, C+D+E, E+F+G and G+H+l is equal to 13. What is
the sum of C, E and G?
(1)7 (2)9 (3)11 (4) Cannot be determined
120 | g3a a0 1,2,3,4,5,6,7,8 M3 9 & f§& »UT A, B, C, D, E. F, G H M3 | ©7a" Sarfem faprr I, ua
wgat a9t fa fegt e g €91 5= 1578, A+B+C, C+D+E, E+F+G M3 G+H+l fe9' 339 13 € sawa J1(,
EM3 GEr Tt &
(1) 7 (2)9 (3) 11 (4) fagufas &4t 13T AT A"
ENVIORNMENTAL SCIENCE - 30 QUESTIONS (121-150)
121 | Who started the Chipko Movement?
(1) Kiran Bedi (2) S. L Bahuguna (3) Medha Patkar (4) None of these
121 | “fgud Weess” fan & gg 3T ?
(1) fags g<t (2) WA, WM. 9gII&T  (3) HOT U3S'd (4) fegst feg' et &at
122 | When was PROJECT TIGER launched?
(1) 2011 (2) 1970 (3) 1973 (4) 2007
122 | {#ige eetae g€ §g dfemm ?
(1) 2011 (2) 1970 (3) 1973 (4) 2007
123 | Which of the following is a biodegradable waste?
(1) Plastics (2) Polythene (3) Glass (4) None of these
123 | 3= foy fes' fan € fengg § gea3t I9a 575 (biodegradable waste) & IBTEMT AT AFET T |
(1) yBsTHfed (2) UBfas (3) ISH (4) feast feg aet aat
124 | Silent Valley, which has been raised to the status of National park, is situated in?
(1) J&K (2) Tamilnadu (3) West Bengal (4) Kerala
124 | yg Wt (silent valley) fARg gmHedt ured & gaAT fe3T famr I Gv faa Afg g 9 ?
(1) A9 M3 IAHtT (2) IH® &5 (3) ygoHt Sars (4) AIBT
125 | A tight whirlpool of wind formed in the stratosphere which surrounds Antarctica is called?
(1) Polar stratospheric cloud (2) Polar Vortex
(3) Both (1) & (2) (4) None of these
125 | pgry 113% few 9= © 39 99 fAusT wiegdfear § W 38 9 Quat ao@er a ?
(1) UBd AEIHIIT B EF (2) UBd SIeaH
(3) €= (1) M3 (2) (4) feast feg aet aat
126 | Dachigam National Park is in which state?
(1) Himachal Pradesh (2) J&K (3) Tamilnadu (4) Sikkam
126 | grgtant gHedt ued faug aA feg T ?
(1) fogs ugew (2) A M3 IAdla (3) ITHBSF (4) fafadr
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127 | White lung cancer is caused by?
(1) Asbestos (2) Paper (3) Textiles (4) Silica
127 | mee e v AR fan s s gerd ?
(1) WHEHS™H (2) Uug (3) SAACTEIS (4) fafgar
128 | When did Supreme Court of India ordered Ministry of Environment & Forests to establish a special
division to develop a green belt around Taj Mahal?
(1) 2004 (2) 1994 (3) 1984 (4) None of these
128 | grg3 & PUdHAE & 3™ HIT® & B -3 JE1s §3%< 78T BEt TI<IS M3 HIB'3 H3TBT
gae menfed ?
(1) 2004 (2) 1994 (3) 1984 (4) fegst feg et adt
129 | How much percentage of water in the oceans is drinkable?
(1) 97.2% (2) 2.15% (3) 0.65% (4) 0.0%
129 | meg v fad ySHas ust Wis Gar g ?
(1) 97.2% (2) 2.15% (3) 0.65% (4) 0.0%
130 | What type of radiation is trapped on the earth’s surface by the green house effect?
(1) UV rays (2) y -rays (3) X-rays (4) IR rays
130 | gost &t AzT 3 ols oW § ygrfes doe =@t faust =fafee gt o ?
(1) vV fagst (2)y -fag=t (3) X -fagst (4) IR fag=t
131 | Bhopal gas tragedy occurred due to?
(1) Methane (2) Phosgene (3) Methyl-isocyanate (4) Methyl amine
131 | Sy 9 wee fae 7% wet ?
(1) Higs (2) S (3) Hig® mreRaretae (4) HIES nmHEts
132 | Which book has been prepared by International Union for Conservation of Nature and Natural
Resources (IUCN) concerning endangered species of plants and animals?
(1) White Data Book (2) Red Data Book (3) Blue Data Book (4) None of these
132 | gEd3z M3 ded3t AATUST (IUCN) € faeTaa BEt Wi3ddHed! AW & BUI T gabit Ufat w3
As<gt € Huy feg faust fagg fama st a ¢
(1) <Tete 3TeT g9 (Aew 37T fazm™) (2) I8 37T I (B'H T fazm™)
(3) 98 3¢ 5K (5181 3TeT fagm) (4) fegst fes aet adt
133 | High concentration of which of the following causes leaf curling, leaf drop and reduced leaf size in
plants?
(1) so, (2) co (3) NO, (4) None of these
133 | fons fe'a* fan &t € feamamsT, U'3T Fafdar, U'St w3 gef feg we St Agu M3 ySTsayer
FIT ST I ?
(1) SO, (2) CO (3) NO, (4) fegst feg' det adt
134 | Noise pollution (Regulation & Control) Rules 2001 deals with?
(1) Noise pollution due to fire crackers (2) Noise pollution due to loudspeakers
(3) Noise pollution due to public address system (4) Both (2) & (3)
134 | 3w yggne (Ffsfimis W3 a7g) fami 2001 fae &% Fafuz T ?
(1) yetfmit 3* 3BT UggHe (2) 38F mitge 3 38T IR
(3) AgSAfad A0S UdaTST 3 38T Udens (4) €< (2) M3 (3)
135 | Which of the following has greatest affinity for haemoglobin?
(1) co (2) NO (3) 0, (4) Cco,
135 | fegst fe9* fan &f dHioBefs 5 Ag 3 TTUAMSIT T ?
(1) co (2) NO (3) 0, (4) CO,
136 | What is BODs?
(1) Biochemical Oxygen Demand in 5 hrs (2) Biochemical Oxygen Demand in 5 days
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(3) Biochemical Oxygen Demand in 5 months (4) Biochemical Oxygen Demand in 5 minutes

136 | BoD, &t T ?

(1) T8 hila® mrariAs SHF 5 Ul (2) T8 itas mrariAs SHF 5 fes

(3) TEIE fla® martas SHF 5 Hdtd  (4) I8 aila® mrartas 3HE 5 fiae
137 | London smog is found in?

(1) Summer during day time (2) Summer during morning time

(3) Winter during day time (4) Winter during morning time
137 | gzs St e aa gat I ?

(1) It feg fes € A (2) It feg AR =8

(3) AgEtnt feg fes @ An (4) AGEt feg AR <&
138 | Which of the following acid is present in Acid rain?

(1) HNO; (2) H,S0, (3) CH;COOH (4) Both (1) & (2)
138 | 3o fofumt feg' miste <our feS fausT 3ag ufewr Afer J ?

(1) HNO; (2) H,S0, (3) CH;COOH (4) €< (1) M3 (2)
139 | The BISHNOI Sect was founded by

(1) B. R. Ambedkar (2) Bhajan Lal (3) Guru Jambheshwar (4) King of Jodhpur
139 | fggaet Aydee fags AEfug €T At ?

(1) §t. »rg. wETad (2) IAS 'S (3) IT AHEHST (4) A9 Yyd € IAT
140 | The first nuclear disaster occurred in the history of world on

(1) 16" August, 1945  (2) 26" August, 1945  (3) 06" August, 1945  (4) 08" August, 1945
140 | A9 € fegtow oo ufosdt e mruer g€ Truet At ?

(1) 16 ™33, 1945  (2) 26 WIS, 1945  (3) 06 MAHI, 1945  (4) 08 MIHI, 1945
141 | Which of the following device(s) is used to control particulate pollutants?

(1) Gravity settling chamber (2) Cyclone collector

(3) Fabric filter (4) All of the above
141 | g= yggHe § Ja< BTt J5 fay fes' faux Quage & =3 st AiEt 3 7

(1) JIfeS AefEar OHET (IGSTIHS BIUTE IFH) (2) ATEII8 S TBACT

(3) Sgfaa feweq (4) 8ua f&a Ara
142 | Environment Impact Assessment(EIA) was formally established in USA in year

(1) 1967 (2) 1969 (3) 1971 (4) 1973
142 | grgregs ygrfez AGST (Environment impact assessment) midtar fee fauad e rerfug aist

aret ?

(1) 1967 (2) 1969 (3) 1971 (4) 1973
143 | How much area is covered under forest in India?

(1)33.47 % (2)29.47 % (3)22.47 % (4) 19.47 %
13 | gz feo o3 Tr 439 fds ySea 9 7

(1) 33.47% (2) 29.47% (3) 22.47% (4) 19.47%
144 | The Greenhouse effect was first recognized by?

(1) Jean-Baptiste Greenwood (2) Jean-Baptiste Fourier

(3) Jean-Baptiste Greenhouse (4) None of the above
144 | gts 978w € ygre &t yge A9 3 ufost fas a1t ¢

(1) fis-gufere gdtass (2) Hia-gufene efora

(3) Fie-gufene adts TER (4) fegst feg' et &t
145 | The situation of depletion of Ozone layer is referred as OZONE HOLE, if the ozone level decreases

below
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(1) 800 DU (2) 400 DU (3) 200 DU (4) None of these

145 | {99 »s AST (Ozone layer) few 3 St I&T weet Jret 3t faox oo 3t f&9 nivs @ weet uaa
M 3% Wt AvEait ?
(1) 800 DU (2) 400 DU (3) 200 DU (4) fegat feg’ aet &dt
146 | Traces of radioactive waste present in water can cause?
(1) Cancer (2) Eye cataract (3) DNA breakage (4) All of these
146 |yt fe'g e Are =8 I5t8uadt g= € fams (traces of radioactive waste) faH €7 a9< o< Age
Js ?
(1) d7g (2) Wiyt eT g f§= (3)DNA Tt gege  (4) Bua feu g
147 | Ten percent law is given by
(1) Lindmann (2) Goldmann (3) Beckmann (4) None of these
147 | en y3tH3 T74& (Ten percent law) fam & fe3r ?
(1) féans (2) TBIHS (3) §9 W& (4) fegat feg aet &dt
148 | Which of the following is a non-governmental organization dedicated to wildlife conservation?
(1) World Wildlife Fund for Nature, INDIA (2) Indian Board for Wildlife
(3) National Wildlife Action Plan (4) All of these
148 | g5 fofumt feg* faozT dangardt meTer Hast e Ifn et 958w T ?
(1) 9793 feg ARTT € goddl HIIBt A=t et &3 (2) Fit= IfwT Bt I7I3T §9F
(3) IHSI HIT HiE IfPTaTaSt GHST (4) Qug feg Ag
149 | Which of the following is responsible for global warming?
(1) Chloro-flouro carbons (2) Methane
(3) Carbon dioxide (4) All of these
149 | 35 fofumt fes’ aBgs Tafiter T3 d< finea d ?
(1) IBI-T&J IJ9S (2) fias (3) ITIIE STEPATIATES (4) Bus faa Arg
150 | Everyone has the right to a Nationality is covered in .............. of Universal Declaration of Human
Rights ?
(1) Article 10 (2) Article 15 (3) Article 20 (4) Article 25
150 | gg fan & IHSIMIT T TT T ..o feg umHeT WS Yt IeF 5% fEuet IE T (universal

declaration of human rights)

(1) Mgaas 10 (2) MTIaS 15 (3) MTaaa® 20 (4) WIS 25

ROUGH WORK
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